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1.

Mario fills the rest of the table with the numbers up to 40, following the system shown:

O MApLoG CUUTIANPWVEL TOV UTTOAOLTTO TIiVOKA LE TOUG aplBuolg pexpl to 40, onwg dpaivetal
TMAPAKATW:
213451678
9 |10{11|12

Which of the pieces shown could be cut from the table?
Moto amnd ta Koppatia mou ¢aivovral Ba umopoloes vo NTAV KOULATL TOU Tivaka;

2 12 12 12 12
22/23 20/21 20/21 21122 21122

133 (B) 28 (N 29 30 () (31

(A) (a)

Matchsticks can be placed to build numbers, as shown. For example, to build the number 15,
one needs 7 matchsticks and one need the same number of matchsticks to build the number 8.
Ma tn dnuloupyia TV TILo KATW apLlOUWV Xpnotpomolouvtal omipta. Mo mapdadelypa, yla va
drtiaéoupe Tov aplBuod 15, xpetalovtal 7 omipta Kot Tov (6o aplBpod omniptwy yla va ¢tiaéou e
Tov aplOuo 8.
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What is the largest positive number that can be built with the seven matchsticks?
Molog elval o peyaAuTtepog BeTIkOG aplBUdC ou pnopel va dtiaytel pe entd omnipta;

(A) 31 (B) 51 (r) 74 (A) 711 (E) 800

Which of the following shapes cannot be divided into two triangles by a single straight line?
Molo amod Ta mapakatw oxnuota dev umopei va xwpLotel og Vo Tpiywva pe pia povo subeia;

A %
4 N N / )
\ A
(a) 4SS0 () (r) Zfi:::——i (a) == (E)

Roza has a piece of paper, marked as shown, which she folds to form a cube. Which of the
following five cubes can she get from this paper?

H Pola £xeL éva KOpATL Xapti, oxedlacpévo onwe daivetal, To onolo SUTAWVETOL yLa VOl
oxnuotiost éva kKUBo. Nolog armd Toug MapaKATw TéEvTe KUBOUG Umopel va oxnuatiotel anod avtd
TO KOMUATL Xapti;

,
>
o
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5. Claudia climbs from the bottom to the top of the cylindrical tower shown. The
steps are all equal sized. Nine steps are visible. How many steps are not
visible?

H KAaouvtia aveBaivel amod KATw mpocg TNV Kopudr Tou KUALVSpLKoU mUpyou
onwg ¢aiveral. Ta okaAld eivatl 6Aa icou peyéBouc. Evvéa okaAla eival
opata. Nooca okaAila dev paivovray;

.
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(A)9 (B) 10 (N 11 (A) 12 (E) 13

6. Anna has five circular discs of different sizes. She wants to build a
tower of four discs so that each disc in her tower is smaller than
the disc immediately below it. How many different towers could )
Anna build? S =
H Avva €xeL tévte KUKALKOUC Slokoug SladopeTikwy Leyebwv. @ '.\_ _);
OéAeL va pTLacel évav mUpyo anod Técoeplg S0KOUG, £TOL WOTE o
KaBe Slokog aTov MUpPYo TNG va elval ULKPOTEPOG Ao Tov Sioko
OKPLPWE KATW amo autov. MNoooug dtadopetikolg mipyoug Ba
propoloe va XTioeL n Avva;

(A) 4 (B) 5 (r o (A) 12 (E) 20

7. The picture shows a parcel around which four tapes labelled M, N, P, Q
are placed. In what order, from the first to last, were the tapes placed?
H ewova Seiyvel éva S£€pa yOupw armo to omolo £xouv tomoBetnOel
TE0OEPLG TaLVIEG pE TIG eTIKETEG M, N, P, Q.
Me moLa o1pd, Ao TNV MPWTN £WE TNV TEAgUTAlQ, TOMoBeTRONKAV Ol Q
Tawvieg;

(A)M,N, Q, P (BYN,M,P,Q (NN, Q M,P (B)N, M, QP
(E)Q,N, M, P

8. Alice has the four puzzle pieces shown.
H AALKN €XeL TA MOPAKATW TECOEPA KOUUATLA TOU TtalA.

2 \ 4

Which pair can be combined to form this hexagon?
Moto {evyog umopel vo cUVSLOOTEL YL VO OXNUATLOTEL UTO TO £€AYWVO;

(A)land2/1 ko2 (B)1and3/1kat3 (f)2and 3 /2 ka3
(A)2and 4 /2 ko 4 (E)1and 4 /1 ka4
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9.

10.

11.

12.

13.

The grey circle with three hols punched in it is placed on top of the clock-face.

The grey circle is turned around its center. Which three numbers is it possible to see at the same time?
O ykpilog KUKAOC HE TLG TPELG TPUTIEG TOTOBETEITOL TTAVW aTtd TNV MPocon Tou poAoyLou.

O ykpilog KUKAoG yupilel yUpw amd To KEVTPO Tou. Moloug TPeLG aplBuouc sival epktd va Solue
TauToOXpOVa;

(A)2,4and9/2,4 ka9 (B)1,5and 10/ 1, 5 kow 10 (1) 4,6and 12/ 4, 6 kat 12
(A)3,6and9/3,6 ka9 (E)5,7and 12 /5, 7 ko 12

A | |
John glued the three pieced of paper shown L — | L |  onto the black circle
on the right. Which of the following patterns could not obtain?

- \ |\
O TMévvnc KOAANOE Ta TPLot KOPUATLOL XApTLOU Ttou daivovton i !
oTov pavpo KUKAo Sg€Ld. Molo amod Ta mapakdatw potifa ev undpeoe va
OUIOKTNOEL;

(A) (B) ) () ()

Francesca wrote down three consecutive 2-digit numbers in their natural order, but instead of the
digits she used symbols: 00, ©A, ¥O. Which number is next?

H Opatiéoka éypae tpelg Stadoyikols duprdloug aplBuolg pe Tn GuoLKr ToUug OELpd, AR avTl
yla ta Pndia xpnowponoinos cUpBola: OO, VA, ©O. MNolog aplBuoc eivat o eMOUEVOC;

(A) o© (B) oo (ry oo (A) €O (E)0O

The Coopers have a patio which is tiled with square tiles of three different
sizes. The smallest squares have a perimeter of 80 cm. A snake rests on the
patio, as shown in the diagram. What is the length of the snake?

OL Kooumepg £xouv €va KLOOKL TO OTtolo lval EMeVOUUEVO LE TETPAYWVA
TIAQLKAKLOL TPLWV SLOPOPETIKWV LeyEBWV. Ta HIKPOTEPA TETPAYWVA EXOUV
nepipetpo 80 ekatootd. Eva ¢pidL otnpiletal oTo KLOoKL Onwe dpaivetal oto
Saypappa. Moto eivat to prRkog tou GpLdlou;

(A) 380 cm/ekatoota (B) 400 cm/skatootd (F) 420 cm/exkatoota
(A) 440 cm/ekatootd (E) 1680 cm/ekatootd

I look in a mirror, | can see the image of my digital clock standing on the table behind me, as shown.
What image will | see when | look in the mirror 30 minutes later?

Kottalovtag otov kaBpédtn, unopw va 6w to YndLako pou poloL mou Pploketal oto Tpamell miow
pou, onwce dpaivetal otnv eikova. Otav kottalw otov kabpedtn 30 Aemtd apydTepa, oLaV ELKOVA
Oa dw;

F2ES
| 222 o 1 2588 1G9 , 1569 . 22l

(A)
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14.

15.

16.

17.

Maria, Peter, Andrey and Tina were playing football in the classroom and one of them broke a
window. When the principal asked who did it, she got the following responses:

Maria: “It was Peter.” Peter: “It was Andrey.” Andrey: “It wasn’t me.” Tina: “It wasn’t me.”. Only
one child was telling the truth. Who broke the window?

H Mapla, o Métpog, o Avtpéac kat n Tiva énaitlav moddodalpo HEoa oTNV TAEN Kal EVag oo
auTtoug éomaoce To rapdBupo. Otav n dleuBuvtpla pwTNOE OO £0TIOCE TO TIOPABUPO, TIHPE TIG
0KOAOUBEC AMAVTACELG:

Mapia: «Htav o MNétpog.» Métpog: «Htav o Avtpéac.» Avtpéag: «Asv nUouy eyw.» Tiva: «Agv nUouv
gyw.». Movo éva maldl eine aAnBela. Molog £omace To mapdbupo;

(A) Maria/Mapia  (B) Tina/Tiva (F) Peter/Nétpog (A) Andrey/Avtpéag
(E) can’t be determined with certainty / 8ev pmopel va mpooSioplotei pe BeBatdtnta

Which two tiles should be used to complete the puzzle?
Mota Vo oxAuoTa T[péT[EL va xpnoLpormnotnBouv yla va cuurAnpwBei to mal);

(A)l1and2/1 ka2 (Byland4 /1 ka4 (NY2and3/2«kaL3
(A)2and 4/ 2 ko 4 (E)3and 4 /3 ka4

The diagram shows five rectangles. Lukas wants to colour the rectangles red,
blue and yellow so that any two adjacent rectangles are coloured different
colours. In how many different ways can he do this?

To diaypappa deixvel mévte opBoywvia. O Aoukag BEAeL va xpwpatiosl Ta
opBoywvia KOKKLVO, UITAE Kal KITpLVo, £T0L wote omoladnmnote SUo SumAavad
opBoywvia va €xouv dLadopeTikd xpwpota. Me mocoug SLadopeTkolg
TPOTMOUG UTIOPEL VA TO KAVEL AUTO;

(A)3 (B) 4 (s (a) 6 (E) 7

George has four blocks, stacked as shown.
O Mwpyog €xelL Téooepa ToUPAQ, oTolBayuéva Omwe dpaivetal.

In a single move, George can take some, or all of the blocks from the top of the
stack and place them upside down, as shown.

Me pia povo kivnon, o MNwpyog Uropel va mapel pepikd i 6Aa ta touBAa and thv
Kopudn ¢ otoifag kat va ta Tonobetrnoel avanoda, onmwe daivetal.

He wants the blocks to be stacked in this order:
OéAeL ta ToUBAa va oTolBalovtal e AUTA TN OELpA:

1 1

What is the smallest number of moves he needs to make to get the correct order?
Molog lval 0 IKPOTEPOC APLOOG KIVICEWV TIOU XPELATETAL VO KAVEL yLa VoL Ta BAAEL
OTh CWOTN OELPQ;

(A) 2 (B)3 (N4 (8)5 (E)6
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18. A rabbit, a beaver and a kangaroo are having a
competition. The beaver moves one space at a time,
the rabbit moves two spaces at a time and the
kangaroo moves three spaces at a time. They all start
from the point marked “Start”. The winner is the
animal who lands exactly on the point marked “Finish”
in the smallest number of complete moves. Who wins
the competition?

‘Eva KOUVEAL, £vag KAOTOPOG KoL £VO KAyKOUPO KAVOUV
Slaywviopod. O kaotopag Kiveltal pia B¢on kaBe dpopa,
TO KOUVEAL Klveital U0 B€oelg kaBe popad KaL To
KOYKOUpO KLveital Tpelg B£oelg kabe popd. OAot
apxilouv amno to onuelo pe €voelén “Start”. Nikntng
elval To {wo mou oTapaTd akpLBwG oto onuelo pe ThY
£vbelen “Finish” kal £xeL KAVEL TOV HKPOTEPO aplBud
Kwnoswv. Molog kepSilel Tov SLaywVIoUO;

(A) the beaver / o kdotopag (B) the rabbit / To kouvéAL
(F) the kangaroo / to kaykoupo (A) the kangaroo and the rabbit / to kaykoupo kot To KOUVEAL
(E) the kangaroo and the beaver / 1o kaykoupo KoL 0 KAOTOPAG

19. Luna wants the sum of the numbers in the white cells to equal the sum of the numbers in the
grey cells. Which two numbers does she need to swap?
H AoUva B€AeL To GBpolopa Twv aplBpwy otig AsukéG KUPENEG va gival Loo pe To aBpoloua

Twv aplBuwv otig ykpL kupeAeg. Motoug 6vo apBuoug mpenetva avtodase;, 113512 113

7 4 68|11

(A)1and 11 /1 kat 11 (B)2and 8 /2 kaL 8 (N3and7/3kaL7

(A)4and 13 /4 ko 13 (E)7and 13 / 7 ka 13

20. The gear marked A is turned clockwise, as shown. Which two boxes will move upwards?
O tp0oX0G Pe TNV €vdelen A neplotpédetal deflootpoda, Onwe daivetat. Mota Vo kKouTld Ba
KlvnBouv mpog Ta mavw;

(A)1and4 /1 ka4 (B)2and 3 /2 ko 3 (N1and3/1ka3
(A)2and 4 /2 ko4 (E) it cannot be determined / 6ev pumopetl va pocdloplotel
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21.

22.

23.

Tina wants to draw figures in the six boxes of the pyramid shown.
Each box should contain all of the figures in the two boxes directly
below it and nothing more. She has drawn the figures in some of ODO.,-;.Dﬁ
the boxes already. Which figures should she draw in the box in the
middle of the bottom row?

H Tiva B€AeL va oxedlaosl cUpBoAa ota £EL KOUTLA TNG Tupauidag O O

Tou ¢aivetal. Kabe kouti mpémnel va mepleéxel OAa ta cUpBoAa ota
600 KouTLA aKpLBWE amd KATW Kal tirmota aAAo. ExeL 16n oxedldoel
Kamola cUUBoAa o€ HeEPIKA aTto Ta KOUTLA. Mola cUpBoAa Tpémel
va OXESLA0EL OTO PECALO KOUTL TNG KATW OELPAG;

AN
(A) o ®) |2
- |

Q
() A | 4 €) | ©a°

Martha chose one of the five structures below and combined it with the structure of the right.
The table shows the number of the cubes in each column in the combined structure when

seen from above. Which of the five structures did Martha choose?
H MdpBa SLalege pia amo TLg MEVTE KATAUOKEVES TTOPAKATW KOL TN

ouvlUaoe e TNV Kotaokeun ota Se€La. S R
O mivakag Seiyvel Tov aplBuo kUBwv o KABe otHAn otnv 3]2]3
OUVSUAOUEVN KATOOKEUT OTwe daiveTal ano mavw. 2 2
Mola armo TI¢ TIEVTE KATAOKEVEG eméAete N MdapBa; 1101
(A) (B) P?r (4) (E)
Elsa has two machines. Machine R rotates the paper 90° clockwise. Machine S stamps the
paper with a * .
H'EAoa £xeL SUo pnxavec. H pnxavn R yupilel o xapti 90° defiootpoda. H pnxavn S Tunmwvet

L J

oto xaptito cUpBoAo = .
Mnyxavn R Mnyxavn S

machine R machine S

M A Sl ]

In which order are the machines used to create the image shown?
Me moLa GELPA XPNOLOTIOLOUVTOL OL LNXAVES £TOL WOTE va SnuoupynBel n ewkova nou daivetal;

Mnxavn ; Mnyxavn ; Mnyxawvn ; Mnyxawvn ;
Machine? Machine? Machine? Machine?
machine 7 machine 7 machine 7 machine 7
e - » e - *
(A) SRRR (B) RSRR () SRSR (A) RRRS (E) SRRS
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24,

25.

26.

Four stakes are placed along a 120m track, as shown.
Téooeplg MAooalol TornoBeTouvTal KOTA UKOG pLag dtadpoung 120m (HETpwy), Omwg dalvetal.

- >e > >
29 m 30 m 66 m

What is the smallest number of stakes that should be added so that the track is divided into
sections of equal length?

Molog elval 0 UIKPOTEPOC apLOUOG TTIAOCAAWY TIOU TIPETEL Vo TipooteBouv wote n Stadpoun va
XWPLOTEL 0 TUAUATO (COU HAKOUG;

(A) 12 (B) 15 (ry17 (4) 20 (E) 37
On a table there is a tower made of blocks numbered from 1 to 50. Emma 50 i
builds a new tower in the following way. She takes two blocks from the top 49 1

of the original tower and puts them on the table as the base of the new
tower. She continues by taking the two top blocks from the remainder of

7 13
the original tower and putting them on the top of the new tower, as seen in 3 a7
the diagram. Which of the following pairs of numbers are on adjacent % 28

blocks in the new tower?
Ye vl TPOMETL UTTAPXEL Evag UPYoG ard TouBAa aplBunuéva and to 1 £éwg to 50. H Eppa xtilet
£vav vEo TUpyo Ue Tov € Tpdmo. MNaipvel U0 ToUPAA Ao TNV Kopudr Tou apxLkol TTUPYOU Kol
ta Balel oto tpamnell wg Bdon véou Upyou. TuveXilel maipvovtag ta SUo TouPAa TG KopUdNG
OItd TO UTIOAOLTTO TOU apXLkoU TtUPYOU Kol Ta TormoBetel otnv Kopudr Tou vEou UPYOU, OTIWGE
dalvetal oto Staypappa. Moto amd Ta mapakdtw {evyn aplBuwv Bpioketal os Suthava ToupAa
oToV VEOo TUPYO;

(A) 29 and 28 /29 kat 28 (B)34 and35/34 ko35 ()29 and 26 / 29 kaw 26
(A)31and 33 /31 ko33 (E)27 and 30/ 27 kat 30

Martin has three cards with numbers written on both sides. The

card with number 1 on one side has number 4 on the opposite o
Mnpoota [liocw

side, the card with 2 on has 5 on the opposite side and the Front Back
card with 3 on has 6 on the opposite side. Martin randomly Képto 1/ Card 1 E‘
places three cards on the table and adds up the three numbers

he sees. How many different sums can Martin get? Kdpta 2 / Card 2 E’

O MApTLV €XEL TPELS KAPTEC E aPLOUOUS YPOUUEVOUC KAL OTLG Kdpra 3 / Card 3 @ @
600 mMAgUpEG. H kapta pe Tov aplBuod 1 otn pia mAsupd £xel

oV apliuo 4 otnv mow MAEUPA, N KAPTA LE TOV aplBuo 2 £xeL

TO 5 otnV miow TAEUPA Kal N KAPTA e Tov aplOud 3 £xeLto 6

otnv miow mAgupd. O MdaptLy TomoBetel Tuxaia TPELG KAPTEC OTO

TParmell Kol TPpooBETEL TOUC TPELS aplBuoUg tou BAEmeL. MNooa

Sladopetikad abBpolopata pnopel va mapeL o Maptwy;

(A)3 (B) 4 (r)s (A)6 (E) 10
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27. In a second hand shop, two belts are sold for the same price as five skirts, three skirts for the
same price as eight t-shirts and two t-shirts for the same price as three caps. Which of the
following collections is the most valuable?

Y€ VOl KOTAOTNHA ETAXELPLOUEVWY, SUO0 {wveg MwAoUVTOL OTNV 8La TIUN e TEvie GoUOoTEG,
TPl dovoTeg MwAoUVTAL oTNV (8La T Ke OKTw Prthoulakia kot SUo pumAoulakia otny Sl TN
Je Tpla KaméAa. Mola armo TG MopaKATW cUAAOYES €lval n TILo TTOAUTLUN;

(A) a belt and five skirts / pia Twvn Kot tevte poUOoTEC

(B) a belt, three skirts and a cap / pia {wvn, Tpelg oUOTEC KAl £va KATEAO
() eight skirts and six t-shirts / oktw ¢polotec kat £€L umAouldkia

(4) thirty-seven caps / Tplavta entd KameAakia

(E) three skirts and three caps / tpelg dovoTeg Kot Tpla KaméAa

28. Sonia and Andrey are playing a game. They can alternately take 1, 2, 3, 4 or 5 tiles from a pile

of tiles. Whoever takes the last tile or tiles loses. At one point of the game, there are 10 tiles
left in the pile and it is Sonia’s turn to take some tiles. How many tiles should Sonia leave to
Robert to be sure that she will win?
H ovia kal o Avtpéoc mailouv €va mawvidl. Mmopouv va mapouv evada€ 1, 2, 3,41 5
mAakiSla amod pio otoifa amod mAakidia. Omolog mapel to tedevutaio mAakidlo A mMAakiSla
XAVeL. Ie éva onuelo Tou malyvidiou, €xouv amopeivel 10 mAokidla otn otoifa Kal sival n
OELPA TNG ZOVLIOC Va TIAPEL HePLKA. Mooa mAakibla Tpemel va adnoel n Tovia otov Avtpéa
yla va eival olyoupn otL Ba kepdioel;

(A)S (B) 8 (N7 (8) 6 (E)5

29. Which of the following four shapes has the greatest area?
MoLo amnod Ta mMopaAKATW TECOEPA OXHOTA £XEL TO LEYAAUTEPO EUPASOV;

M2

w diamond / Suapavr the crown / xopuwva lightning / aotpann

(A) W (B) diamond / Stapdvrtt (F) the crown / kopwva (4) lightning / aotpann
(E) they all have the same area / €xouv 6Aa to 1610 epPadov

30. An explorer wants to find a path through the maze shown
from the point marked “start” to the point marked
“finish”. She can only move horizontally or vertically and
she can only pass through white circles. She also has to
pass through all the white circles exactly once. When she
reaches the circle marked X, what will her next move be?

Mia e€epeuvntpla OéAsL va Bpel £va HOVOTIATL LECO OTOV

AaBUpvBo mou daivetal, arnd to onueio «start» £wg to onueio pe v évdelln «finish». Mnopet
va KlvnBel povo oplovtia f KABETA Kol Umopel va mepACEL LOVO HECA OTIO TOUG ALOTIPOUG
KUKAouc. MpéEmel emiong, va MeEPAOTEL Amo OAOUG TOUG GAOTIPOUC KUKAOUG akpLBwe pia ¢popd. Otav
dtdoel otov KUKAO X, mola Ba eival n emopevn kivnon tg;

(A) T (B) L (- (8) <

(E) thereis no such path / sv undpyxel t€tolo povomdartt



